O‘Qﬁ @ﬂgé}g‘é gm&
ok

3

( sabis! shons) ¥ Jad - ol ) S
s olgils> pb g pb

Al ) pawd Jool> -V

SIEA =\
YA = \eoo

AR

YN0 X\ =

Voo X QY
[\ X AQ/YY =

Y4 - ¥NY

3 YAYL + ANYY

Aﬁ;sdff""’.‘s)'“‘s‘t{ |) (5)@&' >de -V
AYIYO VAT

Al €0

oS & e o 1y 51 alS oS -5
VE = Y

17 3

10= 4_=
4 Yz
25 = 5=

IS oS (g kel sae & ) ;S -0

daks OLES jeme (59, 1) G245 -A
15 -Y/¥ =

Y/Y x VO =

sl s 2b ool S8




eSS \FY  (65,5liaS ) s Jgame -\ LS:JLAM VY (gl dxbo YT SLS SO coles -4
Gyl Jsb @ ducS D )3 1) 393 Jpaze 5l . el q.b.lswbwl)uirjfgfﬁwbbow|):w
Tl £S5k Wz dnS B Ojy - 3,5 (G Ly

YOIY + £ YOy +\Y
YA =Y YI¥ + <Y
Y=V /YN = VY

> Ol g dubol 3990




